H® # =
S F & ok (am) | B 269X MBALBXB4T539
i g (kg) 11.5
A2 |I5AU/2BSEEEERERETL SE
Emoa>ol 3.50kW  (83010kcal/h)
NZHEE B3>0 2.97kW (2550kcal/h)

(30 | 7V 1.33kW (1140kcal/h)
ERNEF | 7.05kW_ (6060kcal/h)
£ B | DC3V(EIFwEH*?2E)
IVOBEtwY Y — N —F —
kv 7oL — b OIER A—O0—f ki
| B oA BE SF A
J |
= C &B & 18 No| B2 % t#
= [ 0.9 T ey R TU—IATRDT Dl 7 z&1/2"
ol " AS3E1E T15+1~35+1] Q| # z181/2"
. < DEHETHITSF. B TR/
. / = AFE | BEE OB
> | _¢ 35 ) 5 Glagae > 7—7 b~y TRITIERK]B00
| / 15 | 22.5 . 472.5(E 0 kA > F3)
/ B |/ 4107 (¥ b S3&) 435( KOy 71 ¥ )
. 7 E1R
150 == & Y
443 ﬁ%ﬁ{itﬁmvky N 7°@i’%% /o 7 ::::E:::.
A A=35+1 o ~N
LOS(ROy o4 V%) N IR
EEROUE ;
(FrExy FMIRORIE) =:
C % BREICKLER !
[Tl =) a ‘ |
NN { ! | 0 ‘
@ N \\\f/ ’ E A mﬂé ‘ |
o N o — !
2 N { N @ 30 230
50| [t PAIN | 1 % A | 4808 (H v FHE) |
446(18) (17 o BAETE
‘ ?ﬁ%nﬁj ?AJ ‘ ‘ iﬁiﬂ | =—=#RomE ‘
C > | | 3 =] . “ . | i
/ 30 230 ¥l ] reexy rpwaE)
530 (s7) R e
\ EFEEK I
o N BB - RERT AR
7
©
Ky :
/0\%3 , MARAEE S 22204T Y.
% \ : —
o Ut =0
! kil al BB F2EL k1> a0
+h
4107} AU RB2K3HE

J—7J kv Y UARTE

X}
=

1R 15.10.19 IR

g7\ A3 | ) ST kXA
10

1



